X FESE
(B) % 4% 48 18 () 4% 5% 3A31H

#HERBEN SETHEENRES (B4 : [
#x # B LFTEEE MEEFHEE E5|iiE%E
SBINA 2,313, 000 2,343, 000 A 30,000
RERBBHDIA 50, 400, 000 48, 657, 000 1,743, 000
SHEESIMA 206, 671, 000 209, 018, 000 A 2,347,000
EEITA 7,027, 000 6,311, 000 716, 000
BESIRA 3,499, 000 3,420, 000 79, 000
IR (MR EEIIA 218, 612, 000 216, 170, 000 A 1,518,000
A |[BESZRA 305, 099, 000 288, 827, 000 16, 272, 000
5 BERILY—C ASBEIRA 73, 948, 000 75, 785, 000 A 1,837,000
% ZOMDOELIA 6, 190, 000 5,592, 000 598, 000
3 BRERBEHITA 451,000 486, 000 A 35,000
E3) ZEFIBEE S S ULA 9, 000 12, 000 A 3,000
= Z DDA 14,907, 000 12, 336, 000 2,571, 000
& EETHINAG (1) 889, 126, 000 868, 957, 000 20, 169, 000
% NGB X 686, 070, 000 652, 237, 000 33, 833, 000
i EEELM 81, 924, 000 82, 485 000 A 561, 000
3 EHEXH 139, 428, 000 135, 804, 000 3, 624, 000
% |RARSRISEEE 1,272,000 589, 000 683, 000
H (B E X 2, 740, 000 2,820, 000 A 80,000
aESIH 125, 000 124, 000 1,000
3 $F B 1,093, 000 1,186, 000 A 93,000
Z0HOXH 6, 257, 000 6, 678, 000 A 421,000
EEZHRHE Q) 913, 714, 000 881, 923, 000 31,791, 000
EEZPALINEZEEQ)=1)-12) A 24 588, 000 A 12,966, 000 A 11,622, 000
" R EBERE2INA 5, 965, 000 A 5,965, 000
2 | I [EREREEHERA
B |A|REESXBASRA
fi& MR B BZINAG (4) 0 5, 965, 000 A 5, 965, 000
Z T mnasmAecemELH 5. 460, 000 5. 460, 000 0
£ | x |ErgEnexh 16, 773, 000 15, 543, 000 1,230, 000
D | |EEEERT - BEXH
”é BBEEXHEH (5) 22, 233, 000 21, 003, 000 1,230, 000
RREEESINZZ5 6)=1)-(5) A 22,233,000 A 15,038, 000 A 7,195,000
z EBE S EIRIRA 1,163, 000 1,084, 000 79, 000
D | U | BREBEIEERERIA
| A [ EERERIA 2, 456, 000 3,417, 000 A 961, 000
) WARHRERASILA 37, 249, 000 37, 465, 000 A 216, 000
& Z DD EBRAF (7) 40, 868, 000 41, 966, 000 A 1,008,000
E3) EHEREXH 880, 000 994, 000 A 114, 000
< | % [BemuEExH 19, 000 19, 000 0
& | W |ETEEH 3, 796, 000 6, 799, 000 A 3,003, 000
% WERHRIRAS X H 37, 249, 000 37, 465, 000 A 216, 000
i Z DD EB X HE (8) 41, 944, 000 45, 277, 000 A 3,333,000
*¥ | ZotOEBDEERZEE 9=0)-06) A 1,076,000 A 3,311,000 2, 235, 000
Fir&EZH (10) 0 0 0
L AR INKEEE T (11)=(3)+(6)+(9)-(10) A 47,897, 000 A 31,315, 000 A 16,582, 000
MR ZIL A2 B (12) 269, 888, 735 301, 203, 735 A 31,315, 000
LH SRR ESES (1)+(12) 221,991, 735 269, 888, 735 A 47,897, 000




